Multiplication de Deux Binomes (J)

Simplifiez chaque expression.

1. (7Tk* — k)(8k +9)

2 (2 +5)(—9¢" — 4¢%)

D

3. (5k° — Tk*)(5k + 5)

L (9¢° — 64°)(—6g — 9)

(=927 4+ 92%)(92° + Tat)

Ot

6. (=7d* — 3d®)(—d® + 8d*)

7. (=897 —29)(3g —7)

- (6d* + 4d®) (4d° — d*)

08

e

) (8v* + 40°)(—3v% + 3v)

10. (9m® + 6m*)(=2m?* + 6m?)
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Multiplication de Deux Binomes (J) Réponses

Simplifiez chaque expression.

1 (7Tk* — k) (8k +9)
— 56k3 + 55k% — Ok

2. (2 + 5)(—9q4 — 4¢°%)
= —18¢° — 53¢* — 204°

3. (5k° — Tk*)(5k + 5)
= 25k5 — 10k° — 35k*

1 (9¢° = 6¢*)(=6g — 9)
= —54q¢" — 45¢° 4 54¢>

()

- (—92° + 92%)(92° + Tat)
— —812% + 1827 + 63a°

6. (=7d* — 3d®)(—d° + 8d*)
= 7d° — 53d° — 24d"

7 (—8¢4° —29)(89 = 7)
= —24¢° + 50¢° + 14g

8. (6d* + 4d®)(4d® — d*)
= 24d” + 10d® — 4d"

0. (8v* + 40*)(—30? + 3v)
— 2405 + 120° + 120*

10. (9m® + 6m*)(—2m?* + 6m?)
= —18m’ + 42m® + 36m’
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